Directions (I-5); Read the following passage
carefully and answer the questions given below 1.

Rahul a young householder, used to swudy the
scriptures evervday under a guru, One day the guru was
explaining the following passage from the Upanishads.

“MNo husband is loved by his wiite for his own sake
but it is all for the sake of the self. No sons are joved
by their fathers for their sake but it is all for the sake
of the self that the sons become dear to him.”

At that stage, Rahul intervened and said, “Sir, in
my case, both my parents and my wife love me so dearly
for my own sake that if I am delayed by a few minutes
in reach ing home they get highly agitated and if
something” happens o me they will die.” Guruji said,

“You shall learn the truth of it tomorrow, when you see

the result of a test I am going to hold. Before going to

bed tonight, you must swallow this herbal powder. As a .

result, you will lie as if dead tomorrow morning, but you
will be able to hear all that is spoken in your presence.

After a few hours, when the effect of this medicine

wears off, you will become normal and get up. You will
see the fun.” '

Rahul did as instructed and in the morning his wife
and parents found him ‘dead’-lying motionless without
any pulse or heartbeat. The guruji asked for a jar fult of
water and said, “I shall draw cut the entire bad destiny
responsible for your son’s death into this water. One of
you will have to drink this water. The one who drinks
will die immediately, while Rahul will be restored to
life. Tell me who among you is prepared to die for him?

*Bath the parents refused saying, “we are old and,
helping each other mumaﬂ}f. If one dies, the other will
not have anybody to help. So our drinking the water 15
out of question.” Rahul’s young Wifﬁ*alsﬂ said, “I am
Very young and have not seen anything of this world yet.
When such old people, who have seen life in its fullness,

do not want to die'how can you expect me to volunteer
for death? -




| The pu rpD'iEt uf tlm mm,epx was, ho

____It:r Eﬁpﬂrlmﬂn[im_ as per the sur’e o when the schools started ov erburdt:mnﬂ nmdﬁnmm-lth-ﬁ
real‘tsed that SUTL's plan, Rahul 50 called homework,

[d} His parents would e s - {F} Lack of such leisure time does not allow the children
(b} . i | © anything for his sake to develop creative purstits.

5 1S wile wouid readil : Lt

| 1y sacrifice for his welfare 6. Which of the following sentence should be 3rd after

43 1
._ {c) The guru’s prediction had proved to be wrong rearrangement’
- (d} One loves oneself more than one

_ loves anyone else (@) A | (b E

”"tht according o the pa“*‘*d.%iﬂ was the essence of ) D d) F
_ﬂ'lE Upanishad passage? gl i
2)

(ﬂ} Sons are loved by their fathers for

the sake of 7.  Which of the following sentence should be 1st af
themselveg - g ! sh be 1st after

» _ rearrangement?
(b) .Rf:]ﬂtl"rifiﬁ are dear I us bﬂtause We

tove them {a) A () B
(¢) Most human beings are not selfish ©) C (@ D
(d) Every PETS0N’S actions are to gratify himself or (e} E
“herself msehingl EW ,
3. Which of the following sentence should be 2nd after
Directions : Choose the word which s most Opposiie rearrangement’
m_ meanng of the word given in bold as used in the () A (h B
passage. A
B cy D d) E
3. Agitated E } e &
o {ay Roused (b) Troubled . , : ,
< oo s o 9. Which of the following sentence should be 6th (Last)
_(L} SHAEd O - after rearrangement? :
- (e} Angered | @B ® C §
Directions (4-5): Choose the word which is most (€) D d) E 5‘5

near] ,V' rfirt‘ Same i1 meamng of the word given in bold as

used in the passage. )
'”'Appnsed 10, - Which of the h}llnwmg sentence shﬂuld he Sth after
| rearrangement?
'(a)_ REbpl‘:Lt@d (b} Valued @ A - ®) B B
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12 Gruundwater and surface water traditionally _13-

concerned rural Lﬂmmuﬂltlﬂs as those cummunmes
are almost exclusively served by well water.

{a) i -trat_:htmn of concern
) traditions of CORCerning
(€} tradigonally concerns
(dy tradition for concerned
(¢} No correction reguired

13, The very publicised mid day meal scheme meant
to reduce dropout rates in schools seems to be not
yielding the desired results.

(a) much publicised (h) many publicity
(c} too public (d) lttle publicity of
(€} No correction required

14, - Not like the urban schools and colleges, the schools
in rural areas do not encourage the children to
excel 1n extracurricular activities.

(a} Simalarly 1o (b Inspite of
{c} Unlike {dy Despite

{e} Mo correction required

dtis aisoa

19,

of industrialization thal farmg

become more mechanized. putting many labourers

OUut Ot - _
(b) poHil. €Iy

(d) consequence

(a} result, work

(¢} idea, labour
DOUNGS

(e) cause, employmenl

Since their inception, Regional Rural Banks have

taken roots and have become a soft of
part of the rural credit structure In India,

———,

(a) many, friveious (by to, vital

(¢} several, small (@) =all, essentzal

(e} deep, inseparable
Any new proposal in the education sector should
the chances for the rural poor to have a

(e

education at par with their urban counier pam In
their villages themselves,

(a) increase, well (b) improve, good
{¢) search, standard (y glority, betier

{e) lessen, regular

Birections (21-25): Check each sentence o find out

15, The government said that the iron levels in wherher there Is anyv grammatical error or idiomatic

groundwater were higher than that prescribe in error in it The ervor, if any, will be nany one part of
254 districts. the sentence. The number of that part 1s the answer. If

(a) then those prescribe (b)) then that prescribed
{c) prescription - (d) than those prescribed
{e) No correction required

Directions {16-20); Fach QHESHE?H below has two
bianks, each blank indicating that something has been
omnitted. Choose the set of words for each blank which

best fits the meaniag of the sentence as a whole, 7

16. A model based approach has been to identify

=t EE A

the factors that are _  for the problems faced by
the rural areas. I

(ay pursr._lecl, guilty - (b placed, accountable 23.

(c) approved, made (d) identified, liable
(e} adopted, responsible

i7. Farm living is dependent on _~  environmental
~ conditions, and in times of drought, flood or
pestilence, survival becomes extremely '

(a) | irregular, 5impi_§:'

{b) sedentary, daﬂgerﬂm‘s . 25

{¢) erratic, easy
(dy unprediciable, pmblemauc
(e} impulsive, tough

 / are blessed with (3) / technol

(3) / ground water has

there 15 no error, the answer 18 (5). (fgnore errors of
punctuaiion, if any).

2L

in this giobalized era, which (1) / many rich and
fortunate urban children are (2) / becoming
technologically savvy, their rural counter paris (3)
/ do not know much even about computers.

‘(4) No error (5}

A strong bond of friendship among (1) / school
administrative staff and teachers are (2) / responsible

for the negligence of (3) / many aspects of education.
{4) No error {5)

the Minister sajsing that the States (1) / had been
requested to accord priority to (2) / water guality

atfected habitations and to ensure that (3) / funds
-provided by the federal gnvernment were utilized.

(4) No error (5)

Many of (1) the households in the urban areas (2)

ogical ad et
(4) No error (5) gical advancemen

While ground water is not
/ drinking water that the
one of the (2) / key suppli

the only sources of (1)
sOvernment urlizes, it 18
s and the deperidence on

been increasi th
years. {4) / No error (5) B IR T



Lhrections (26-36): p... ,
T 'm?( O Reay the follo Wing passage
carefully and answer the guegijpn given below i
"E.‘he Iflmg pi Kanchi seq off t0 conguer Kamai. He
Was vmmrmuﬁs it battle. The elephants were Jaden with
sandalwood, ivory gol

d and precj

: “I0us stones, taken from

the conquered kingdom of Kamat, They would be a part
o : L £

of the victory parade for his subiects. On his way back
home he stopped at a temple finished his {II‘E;‘&’EE"G}H‘.; Eliu:
goddess and turned to leave Around hislneﬂckl w.a*a &
garland of scarlet hibiseus and as was the {:usmn; for ;'iII
hes forehead was anointed with red sandal paste Hif;
Minister and.the court jester were his only Eun‘_.lﬁalltii'}ﬂﬁi
At ong Spﬂi, il @ mango grove by the wau-'sfidﬂf they spied
some children play. The King said. Ie[ nie go and see
what they are playing ” )

The r:hti(%ren had fined up two rows of clay dolls
and were playing warriors and battles. The king asked,
“Who 1s fighting with whom?” They said, “Kamat is at
battie with Kanchi.” The King asked, “who is WIngHng
and who 15 the loser?” The children puffed their chests
op and said, “Kamat will win and Kanchi will lose.”
The Mmister froze in disbelief, the King was furious and
the juester burst inio laughter.

The King was soon joined by his troops and the
children were still immersed in their game. The King
commanded, “Cane them hard.” The children’s parenis
came runmng from the nearby village and said, “They
are naive, it was just a game, please grant them pardon.”

The King called his commander and ordered, “Teach -

these children and the village a lesson so that they never
forget the king of Kanchi.” He went back to his camp.

That evening the commander stood before the King.
He bowed low in shame and said, “Your Majesty, with
the exception of hvenas and vultures, all lie silent in the
village.” The Minister said, “His Majesty’s honour has
been saved.” The priest said, “The goddess has blessed
our King.” The jester said, “Your highness, please grant
me leave to go now.” The King asked, "But why?” The
jester said, “T cannot kill, I cannot maim, [ can only
laugh at God’s gift of life.” Trembling in the face of the
King’s anger he bravely continued, “H I stay m your
Majesty’s court, 1 shall become like you and I shall

forget how to laugh.”

26. Why were the elephants carrying loads of gold and

other valuables?

{a} This was what the king had Iooted from E{mat
to distribute among his soldiers as a reward

(b) This’was the King’s offering to the deity ouf of
gratitude for making him victorious

(¢) Tt was what the King had plundered from Kamat
to display to the people of his kingdom as a
sign of victory

(d) So that the people of the kingdom of Kamat
acknowledged him as their new ruler

27. ‘Why did the King anoint his head with red sandal
paste? | . _
(@) As a mark of celebration to show he had been
vICLOf10US

{h} It was the usual practice for all devotees at the
temple

(c} To show other devotees that he was king
{d} To priest requested him to do so
8. Which of the following cannot be said about the
jester?
A. He was not a loyal subject of the king,
B. He was afraid of the king’s temper.
(C. He did not support the king’s war against Karnat.
(a) A and C (bhy Only A
(¢} A and B (d) All of these

(2} None of these

29, What excuse was given for the children’s behaviour?

{a) They were disobedient to their parent’s wishes

() They were unaware of the true facts of the
haitle

{c} They were upset that their army had lost
(d) They were in the habit of lying

30.  Why did the jester laugh at the children’s reply to |
the king? .

A. They correctly predicted the outcome of the
battle.

B. Their reply was cheeky because they knew he
was the king. |

C. He wanted to show that their reply was a joke
to save them from being punished by the king.

(a) Only A (b) A and B
(c} Only C @& B and C
{e) Nomne of these

Directions (31-40): In the following passage there
are &!aﬂkg, each of which has been numbered. Choose
from the options the appropriate word ro fill the blanks.

These numbers are printed below the passage and
against each, five words/phrases are suggested, one of
which fits the blank appropriately. Find out the appropriate
word/phrase in each case. The economics of owning and
running a Ration Shop, the familiar name for the outlets
in our Public Distribution System, are such that under
normal business terms, the shop owner could never make
a profit, Yet, (31) the government announces that new



fving

':.'."Ewhﬂl are the% tricks of the tmdﬁ"} R ":-"33-.:".:3.':;::_::.""(ﬂ} Spr outing (d) hard work
X 'i:-f':fGE“lﬁg fake names irito the ubt‘:r ]15[ is the most {e) TOpES :
'_.f_.__:_':._'::_f::ﬂbvuma ﬂplmn the State seems 1o he (34) a losing 3 (a) atempt (D) ‘*""ﬂgms
‘batile against this p[’dLllLE ;udgmg by the endless g () expecting
(C} winmng - .
efforts to weed out bogus ration cards. ,
s b . e ATHAT oo ligt (e} trymng
> The next is 1o get the ‘right Lumﬂmers_ on the iist, . 1 ) discussing
not just more customers. These are people who are 33, (@) harping | .
registered but who do not have any interest in{33) (c) realizing (d) drawmg
on their entitlements. In a system where casie and (e) giving
mcome certificates are for sale, 1 is not (36) tO 3% k (by miust
‘produce’ these documents for mutual benefit. Receipts - 1 L‘;}r @ simple
are duly made in their names, and the rations thus ) difficult .
drawn’ are (37) off into the open market. The sale {¢) enough
price of an item like rice makes clear the (38) 49 (a) sell (by borrowed
economics - it costs Rs.8 in a ration shop while m
' 3} domated {d) bought
the Iatter is Rs.30 or above. There are also customers {L_} d_[_] _
who would rather exchange their entitlements for (e) siphoned
hard cash at the beginning of the month. 38. (a) understood (b) poor
o As the degradation progresses, the shopkeeper, in (c) underlying (d) mechanicai
(39) with the official machinery, manages to withhold (e} unclear
effectﬁw‘r:ljyi the ::nm!emenrs from even the genuine 19. . (2) meeting M) collusion
beneficiaries, and diverts them o the open market. 1
The targeted group is usually not in a position to (¢} tow 6 sow
é,_ (40) itself o get its due. (e} line
% 31. {a) whenever (b} quickly 40. (a) ask (b} voiced
? (L} Jl_lbt (d) as soon (c} assert (@) deliver
(€) time (e} wi}}ful
( - Part-11
@Iremﬂns {ﬂ 45) Wf]’df should come m place of 44 = 9
quem{m m&rﬁ ( f*'j;" m the follo wing quemﬂm 7 - @ : 660
41. 58.621- 13. 329 7.302 - 1.214 = -

b) 35.272




47

45,

52.

e

55.

18 20 23 32 48 73 1q9

n

)

B
66

30
524

(a) 20 (b}
(c) 32 (d)
(e) 73

74 5 9 20 51 1605
(a) 4 (b
{c) 9 {d)
() 5]

6 10 14 34 66 130 75%
{a) 10 (b}
) M4 (d)
{e) 130 |
2 7 30 138 3524 1557 3102
{a) 7 {b)
() 138 ()
(e} 1557

fhrections (51-55); Whar approximate value wilf
come I place of the question mark (?) in the follo Wirle
questions? (You are not expected to calculate exact valve).
51

1580.05 x 23.98 = 7

(a) 360X} {h}

() 37500 d

{e) 37200

T7.077 + 707 X 6.08 = 7

(ay 37 : {b)

(c} 48 (d)

© 66 *

(16.01) - (8.99)% = ?

(a) 175 - {b)

(c) 170 (d)

() 185

171% of 399 = 7

(a) 740 -, Ab)

(c) 680 e ()

) 620 ' |
| e

(c) 440 . @

(e) 435

Population of a cuuntrjf increases every year by
10% . If the population in January 2{}06 was 15.8
lalkhs, what was the population in January 20087

36800
37900

3

180
165

5 B

420
405

39,

&0,

61,

(a} 19,11.800 {h) 1896000

(¢} 19.11,600 ' ()} 18,94.000

{£) None of these '

Production of company A 1s 120% of the production
of company B and 80% of the production of company
C. What is the ratio between the production of
companies A, B and respectively?

@ Hh:5:9 i 6:5:4

W) A2 5 B il S A

ey None of these

If the numerator of a fraction 15 increased by Hi%
and the denomunator is increased by 20% the

1]
resultant fraction 1s —— ., What was the original
fraction? ?
7 4
(a) ey . b 5
3 o
{c) 5 . {d) %)

(€) None of these

Girwdbar purchased 100 sarees @ < 450 per piece.
While selling he offered 10% discount on the
labelled price and earned a profit of 20%. What |
was the labelled price of each saree?

&y T840 ~ (b} ¥ 650

©) T 590 | @ 7600

(&) None of these

Cost of 35 shirts and 28 trousers isi?’QS,[}U[}. What

will be the cost of 45 shirts and 36 itrousers?
(2) T 32,500 =~
(b < 36,000

e

(o) 235000
{4} Cannot be determined

(e} None of these

Number of students in Arts and Science faculties
in an institute are in the ratio of 5 : § respecﬁvely.
If 150 more students join Arts faculty while 80
more students join Science faculty, the respective
ratio becomes 3 : 4. Originally what was the total
number of students in boih faculties together?

@ 1200 ®) 1400
{cy 1150 _ (d) 1190

(e} 1170



..........

(b)- E. -8;0;0.{.3'
(d) T 48,400

e {c) ? 55 333
; (E} ‘None of these

.. 13% of a number is equal to gﬂl of another number.,

Whiat is the ratio between the first number and the

. second number respectively?
T o
€ 455 d 5:6
_{e) None of these
64. 10 men can complete a piece of work in 8 days.
20 women can complete the same piece of work in

6 days. In how many days 16 men and 18 women
logether can complete the same piece of work?

@) 22 0
k- 3 s 8
‘e (c) 3? - (d) 27

(¢) None of these
65. 1580.05 x 23.98 = 7 :
© 50 o T

s Ekrecﬂans (66- 70): In each of the follo w;ﬂg questions
two eguanﬂns are gf ven. Yﬂu Jza- ve fo saf ve them and
gnfﬁ' 3;1.5‘ wer & i

(B.) lf X ‘.:=' }’_;._
(b} lfl 'ﬁ'-f }"

25%'13-1": lranspoﬂ "
-:_5_:_:'31'1__ HlEdiCmL ami Jﬂ',?:' {m LHELHEIHIIILHI He

M. 1 x+3xdd= {"J
I ydy+1=0

 Directions (71-75): Each of the questions belpy:

consists of a question and two statements numbered |

and I given below it. You have io decide wihether the

data provided in the statements are sufiicient (0 answer

the question. Read both the statements and - Give answer,

(a) if the data in statement I alonme are sufficient (p
answer the guestion, while the data in statement [[
alone are not sufficien: to answer the guestion,

(b} if the data in statement II alone are sufficient 1o
answer the guestion, while the daia in statement |
alone are not sufficient to answer the question.

(¢} if the data either in statemment | alone or in statemen
Il alone are sufficient to answer the question.

(d} if the data in both the statements I and II together
are not sufficient to answer the question.

(¢) if the data in both the statements I and II together
are necessary (o answer the question.

71.  What was the ratio between the ages of P and Q

four years ago? - ‘

I. The ratio between the preqen[ ages of P and
i8 3 : 4.

ll. The ratio between the present ages of Q and R
15435 .

72.  What was the tns_jf price of the suitcase purchased

by Samir? ;

[. Samir got 20 per cent LDHCE"?SIDI] on the labelled
price. i

II. Samir sold the suitcase for' Rs. 2000 with 25
per cent profit on the labelled price.
73. What is the helght Df a rrlangla:‘?

I Fhe hmght of the tr:angle is. 20 ﬁm&s its hase.

{Il. The pertmeter ::rf Ehe: tnangie s equal to the
penmeter ﬂf a square of 10 em sxde

74. What percentage rat_e of mmple‘fimterest:per annum

did Ashok pay.to _._Slldhli‘?
Ashok bormw +d Rs

ont udhwfur four
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LATCCHONRS (70-80); Studly

e olowin
fo answer the given GUEStions - £ teformation

Directions (81-85): Study the follo wing lable
carefully and answer the question given below. Marks
Obtained by seven students in different subjects in their
anaual school examination. Maximum marks is Ziven in
bracker.

Ferﬂenmgﬁ of different tvpes of emplovees ip
M organisation

Steno . ;
0% Stadent Subject |A [B |C D | & jﬁ? e E
' AsSisean 2 gt :
ol ssysas 100 ol Physics (100) 6 |58 |73 {75 |68 |56 |51
| SUTICEY 150 T Chﬂmi&?ﬂ'y (1{}{}} X9 ”63 & o [ t(?2 |
Maths (150) 132 {105 | 141] 128] 119] 120] 135
Social Studies (200)] 138 {126 | 162] 1441 150] 116{ 132
s 4 ;
o = :
Qut of these porcent of English (50) 2 127 133 14 12935 WB?
- | | Diret [ Promotees Biology (150) | 105 [%8 | 112} 106§ 119} 107| 9%
L Seno 30 70 Total (750) S31|477 | 590/ 546 | 556) 485 523
2. Assistant 40 & ' . |
.3 g : | 8l.  Approximately what is the maximum difference
- e ar A . 0 between the percentage of total marks obtained by
4 Clerk b L iy il : any two students?
. 5 Clertk I a0 g.5 (a) 15 10
. 6. Officer 1. %0 w © B @ 17
7. :Officer 1T 70 n 5 4

76, What is the difference in Direct Recruits and
Promotes Assistants?

82.  Approximately what is the average of marks obtained
by the seven smdents in Biology?

(a) 210 by 280 (a) 126 h 116
(c) 180 | (¢) 110 (c} 106 d) 96
(¢} None of these fey 102

/7. The Promotee Clerk-I is approximately what percent
of that of Direct Recruit Clerk-17?

63. What is the difference between the percentage of
marks obtained by student 'E’ in Chemistry and

(@) 10 ® 9 Maths together and the percentage of marks obtained

{cy 11 (dy 10.50 by student 'A' In Social Studies and Enghsh

{ ) Q.75 : t(}gEIhET‘}

e) 9.
78. How many employees are supervisors? @).6 ) 8

(a) 1050 by 1019 (¢) 12 | . d 14

@ ”09 ) 1290 (e} None of these

(&) None of these 84. Approximately what are the average marks nbtamed
79. How many total Direct Recruils among all types of by the seven swdents in Physics?

employees are there? _ (@) 62 (b 61

(a) 4000 (b) 3865 () 65 (d) 66

{cy 30C0 (d) 3115 (e) od -

(e) None of these 85.  What is the percentage of marks obtained by student
80. Which type of employees has maximum Direct recruit 'F' in Biology, English and Social Studies together?

(@) Clerk 1 e sy (dy 65

{c} Assistant

(e} Officer I

(e) Mone of these




Directions (86-90): Sﬂfdy zhe ;ﬂfnrmam}ﬂ c&rffuﬂv Sm2xsl . ) 235 L

- o 3115w&r the questions that follow: , {C) 21:55 | B ) 5 L: 22
In a school {here are 1200 students wh:} have visited (e) None of these .
five different cities viz. Delhi, Kolkata, Varanasi, 83, Total number of students who visited lodhpur is
- Mumbaiand J odhpur 45% of the total students are boys. - approximately what percent of number of girls who
- 30% of the total ng[S visited Mumbai. 2/5th of the total visited Delhi?
. .girls visited Delhi. Number of girls whe visited Jodhpur @) 111 ®) 9

Is half of the girls visited Delhi. 2/3rd of the remaining

: dy 32
8irls visited Kolkata. Total number of students who visited B I &
. Mumbai is 300, 20% of the total boys visited Delhi. (€) 72 -
~ 40% of the total boys visited Jodhpur. Equal number of 89, What is the average number of boys who visited
boys visited Kolkata and Varanasi. Kolkata, Varanasi and Jodhpur together?
- 86 'Wh_ﬂi;_'iﬂ_ the total number of students who visited {2y 110 (b) 122
~ Varanasi? (c} 101 (d) 1M
@) B s (b) & | (e} None of these
| O (d) 103 50.  What is the total number of girls who visited Delhi.
(e Nﬁne of these | : Mumbai and Varanasi together?
§7. What is the respective ratio between the number of (a) 464 | (b) 434
girls visited Kolkata and number of boys visited {c) 536 (d) 556
Mumbat? (e} None of these
91.  Which of the fuilﬂw:ng 15 a part of the Central (¢} Danies Ritchel {(d) Blaise Pascal
e Pmcessmg Umit? {e) None
- (@) Printer 96. The Word FTP stands for
(by Key board {a) File Translate Protocol (b) File Transit Protocol
(¢} Mouse (¢) File Transfer Protocol {d) File Typmg Protocol
{d) Arithmetic & Lnglc unif {e) None
- () Nnne 97. The lowest form of Computer language is called
92. CAD stands for | (a) BASIC () FORTRAN
@ _Cﬂmpﬂter-aided design - (¢) Machine Language (@ COBOL
() Cﬂm'puter'algmriihm for {EE&ign Gk (€) Nome |
o () Cﬂmpui:ﬂr apphcatmn n design o 98, Best QUH_H_W graphics is produced by
e (d) All Df the HhDvE P .' : : : (H} Dot }{iﬁtix : (b) LHS&I‘ Pl‘iﬂt&r
. (e) N{}ﬂﬂ e e . 3 | (C} Iﬂkjﬂt PFthEf e od) Plﬂﬁé!‘
9 . © (&) None e | .
93, Which of the following printer canm{ prmt graphics? - -
' {a) Enk-jet - (b) Datsy Whee] - 99. Memory Whlﬂh fﬂ!‘gets ever}rthing when you swiich
.-(} . = .(-d' L ' | off the power is knr:awn as e
C aser e } ot-matrix _
s e (@) Corrupted (t:a) Volatile
i (E} UHE : : : (E) Non- Vﬂlﬂﬂle - ( d} NDH—{?U]‘I‘UE}EBEI
94 A pmgram wrnﬁ-&n 11 machme language is called‘? - (E} N .
| _ Object . = o - -
. (a} Asse_n}ble;* o 0 o - . The linking of computers with a communication
- © Cﬁmput;r. @ Mﬂ_ﬂh!ﬂﬂ . system 18 called .
O Noe .. e 45,
05, The father of Mndem Cﬂmputer s - () Interlocking (@ Assembling .

(a) _Chaﬂes- Babbage (EJ} Vﬂﬂ-ﬂﬂlﬂﬂﬂlﬁl . {®© Sharing

Ty r e S 3 e e -
e T ke e e e e T L



101. The 16 bit Microprocesgor means that it has

{a) 16 address lineg |

) 16 B
(¢} 16 Data lines dy 16 I‘;'l;j
; 3

(¢} None

102. Data going into the Lomputer is called
(a) Output ®) algorithm
() Input

(@) Calculation:
(Y flow chars 4 "

163. Which of the following refers 1o o small, single-site
network? : ‘
(a) LAN (b} DSL
(c) RAM (dy USEB
) CPU

104, Microsoft Office is

(a} A Shareware

(b} A Public domain software

{c) A Open-sourse software

(d}y A vertical market application
(e} An application suite

105, How many options does a BINARY choice offer?

{a)y None |

{b} One

(cy Two

{dy it depends on the amount of memory on the
compuier

{(ey It depends on the speed of the compuier’'s
PrOCESSor .

RS —

106.

108,

109,

A collection of program that controls how your COMputer
system runs and processes information is called

(a) Operating System (by Compuier

(c) Office | {d) Comptler

(e} Interpreter _

Computer connected to a LAN {Local Ares Network)
can
(a)
(b)
{c)

run faster

go on line

share information and /or share peripheral
equipment

{dy E-mail

{¢) None

information travels between components on the
mother board through
(a) Flash memory
{¢) Bays

(e) Peripherals

How are data organized in a spreadsheet?

{a) Lines & spaces (b) Layers & Planes
{c) Height & Widih (d} Rows & ?Diﬂjﬂﬂﬁ
(¢) None - *
The blinking symbol on the computer screen is called
the

(hy CMOS
(dy Buses

() mouse ) logo
{c} hand (dy palm
(e} Cursor

Diivections (111-118): Study the following mformation
carefilly and answer the given qUESHons.

A B, C, D, E F Gand H are eight members in
a family. Among them, four are males and four are
females. There are three husbands, three wives, two
daughters, and two sons in the family. They all have a

different profession, Viz. Lecturer, Professor. Lawyer,

Rusinessman, Beautician, Docior, Haousewife and CA.
?hﬂy' all are sitting around a circular table, facing the
cenire. A is father of C and F. who is a male Doctor.
The housewife is married (0 2 Businessman and neither
A nor B is a Businessman, E is a Professor and 1§ sitting
between the Lawyer and the Housewife. No male is a
Professor. G is father of B and 18 sitting batmen to male

wmembers. D is daughter of C, who 18 second to the right

of her son. H is a Beautician and married to a Doctor.

Disa CA and is sitting second to the left of her father.
A and B cannot sit adjacent to each other. All females

sit {ogether.

11].

112.

113

114.

Who among the following is the Lawyer?

@ A M B |

)y € (d) Either A or B
€ G

Who is the Lecturer?

(a) A by B

ey C @ G

{e) None of these

Which of the following pairs i8 not correctly
matched? |

{a) G - Businessman
() E - Professor
() None of these _
Who is sitting second to the lefi of A7

(b) B - Lawver
) A - Housewife

(@) B (b C
€y D @ B
(g} E -




1E5

A 1a relared rn Foand G is related to B. ernnlarly
E is re!ated rn whreh nr the fellnn mg en rhe hasaa
nf thelr aeanng arrangernerrl:a’jh 5

(c) {d}' A
{e) G L

Ekreenena {I 16-120): In these questions 4 relationsiup

berween drr"ferenr efenrenra r.r skown in the statement(s).
Tﬁe ararerrrenr(a) is/are followed b W iwo conclusions
nrrnrnered Fand H. Give answer

116.

11%

118,

119.

120.

(a} 1f only conclusion [ is true.

() il only conclugion Il is true.

(c) if either conclusion | or H is true.

(d) if neither conclusion [ nor Il is ture.

(e) if both conclusions I and I are ture.
miatements B,Cz2D=E << B

-
oW
el

Conclusion [
Conclusion IT -
Statements

Conclusion [

Conchasion If
Statements

Conciusion

A2 PR AR R PO

Cenclusion II
Statements ' M > R = A <K
ConclusionI : K > M
:Cnneinaien H: K2R
Statements R >8 =7
Conclusion : Q =R
Conclusion II : T > Q

| .E}eeenaras {121 ~125): Study the following rrzfnrrnannn

:_G&‘fﬁﬁlff}" o ana wer rﬁe g; ven qUESLons.

2 A wnrd and nnrnher arrangement machine when
gwen an rnpnt irne nf wnrda and nnrnbera rearrangea""

Srep I}ﬁ-_f_:__"._z=':f1? ahe '?'8 31 geed very 43 erreket playedj:i___';:-'-'1:'-".i?-f'?."'-'.._:.

1’?1 If the first a[ep nf an rnpnr 15 11 are }ﬂu 22 boy
elerer VETY ’1‘5 1? ‘then how. rnan\r rnnre Sieps will

)
be reguired to complete the rearrangeinent

(a) Three b) F r}ur
(e} Seven

122. If are you 11 22 boy clever very 35 17" is the input
then which of the following will be Step V?
(a) 11 you 17 very are 22 boy clever 35
(b) 11 vou 17 very 22 are boy clever 35
(¢} 11 vou 17 are 22 boy clever very £
(@ 11 you 17 very 22 clever are boy 35
{¢3 None of these
123. If the input of an arrangement is ‘may you go 21
23 now 33 47 right' then which step will be the last

but one”?
{ay Thord (b} Fourth
{cy Fifth () Sixth

(e) Seventh

124. The last step of an input is '25 please 31 over 45
house 79 easily 82 come'. Then the thizd siep of
the arrangement will be

(a} 79 82 come please home 43 25 easily 31 over
(b) 2579 82 come please home 43 easily 31 over
(c) 25 please 31 79 82 come home 43 easily over
(dy Can't be determined
() None of these
125. The second siep of an input is '15 to fight polio 21
o1 eradicate by 27'. Then which step wiil be the
final step of the arrangement?
@ Step I (b) Step 1V
“{c) StepV. {d) Step Vi
(e} Step VH
E}areerreea (126-131): In each question below are
given three statements follo wed by two conclusions
nenreeren’ I arar' i Ynu nave {0 rake n&e gr ven statements

- o Eae e everr rf nﬁe By aeenr re Eae ar rarranee with
cnnnnnnf ly ﬁa:.vea-n iaeaa and e‘rerr e’eere’e warea of the given

conclusions Ingreaﬂ v feffn W frenr the &n een aﬂarenrenaa

';_'thern fnllewrng a partreular rule in eaeh arep The ':'ff‘;{-’drareg.ardmg ennnnnn,fy ﬁamwﬂ f,'g{;rfg G;yg Hﬂgwﬂf

'g-":fniiewmg 15 an ﬁluatranen nf rnput and rearrangement - (a) 1f enly ennelnalnn I fell
i S E}WE

Input ahe ?8 31 gnnd l'}' very 43 erleker p]a}rﬁdf:';_._:-_:.___-.:_ii-_.:_-. o

{b) 1f nnly eenelaarnn II fellewa

5-1-:-':;:__--;:-:;(::) rf elther ennelnaren 1 nr H feliewa

Srep Hl‘? very ahe ?8 31 geeci 43 erieket play ed -

o (d) 1f nerther cnneluarnn I ner IE fnliews |

SIEP IHE_;3_':3:.;3:'::.-.1? "*’El'? 31 Shﬂ 73 gﬂnd 4-3 erleket Dla}ff:d -

Step 1V?é;?i:-r:f:ffl7 ‘-"ﬁ‘l‘}‘ 31 ahe 43 ?8 geed erreket IJIa}.r'edf:;:?'j.';;{;f_"i
Step I?‘ 'rery 31 ahe 43 played ?3 gned erleket;;:__.’: .

| ...__;:-;::_;._.f--(e} 1f beth eenelnaren I ane:i II i"r.:.\lleﬂaF
::_.:,,,._..;_ZStarenaenta Aii pelnrerana are rnen .

........

. Serne wrae are eaperleneeé



126; Conclusion |
Conclusion 11

Some politicians are €Xperienced.

Some men h{:‘iﬁi, o
Possibility .

cConclusion I+ Ag least some wise are
CXperienced.

Conclusion IF : Ay least  some men  are
CXperienced .

W i . |
Statements All actors are dancua

Some singers are musicians.
128. Conclusien I : No musician 18 a dancer

Conclusion Il : Some dancers being musicians is
a possibility,
129. Conclusion I : Some actors being musicians is a
possibility.

Conclusion I : Some singers being actors is a
possibility.

Statements Some newspapers are magazines.

All newspapers are books.

Some books are journals.

130, Conclusion I : No journal is a magazine.
Conclusion 11
1$ a possibility.

131. Conchusion I . : Some journals are newspapers.

Conclusion I : All magazines are books.

1@!?&!{:5!0.&3 (132-135): Siudy ihe mﬂmuuﬂg
information carefully to answer the given questons.

. Five friends - A, B, C, D and E - belong to five
- different cities, viz. Delhi, Chennai, Kolkata, Mumbai
.ﬁﬂd Bangalore: They study in college X, taking History,
?':.5.-“..-;‘Gﬂﬂg1'ﬂph}f* Science, Maths and Management as l:hE:Lr
?Et}}ltiﬂmi subjects.
: e B nmrher belongs to Bangaiore nor studies
G&ngraphy C belongs to Mumbai and studies Science.
5 The one who studies Maths 15 neither from Delhi
Gr—%ﬁ-frﬂm Chennai, and the one who is from Koldata
m&iies"f';iﬁstury, but he is not B. The one who studws

..........

xperienced s a

Some newspapers being journal

' ﬁflhy is neﬂher from Knlkat.a nor from B-amlgfflﬂ're

(a} A br-B .
¢y C {tl% D
€ E  Ho il

134. The one who Htuﬂjﬂﬁ ’xidnagfmeh‘t as an: ﬂpnﬂna] |
subject has his home town in '
(a) Delhi {h} C‘hﬁnﬂdl
{c} Bangalore {(d} Data madequate
(e} None of these

135. Bangalore is the home town of

{(a) A (b}
c) C (d)
(e E

Directions (136-140): Each of the questions below
consists of a question and two statements pumbered I
and I given below 1r. You have to decide whether the
data provided in the statements are sufficient to answer
the quesrlon. Read both the statements and ZIve answer.

() if the data in statement 1 alone are sufficient

to answer the question, whﬂe the datli H“.l__::: :
statement IT alone are not %umcl;ﬂnt m answar"_‘
the question.

(b) if the data in Statment II alone are sufﬁdiant i

. to answer the question, while the data m‘_;.
statement I alone are not sufficient to dnswar-:'_:_

the guestion. *

(c} if the data either in statement 1 dlm}m: EII :m,
statement I1 alone are sufficient tu dﬂswer _the
guestion, S

(d) if the data given in bhoth statements i'aﬂd
together are not sufficient ‘to: HHSWﬂr'-??th
question. :

. (e} if the data in b{}th statements I and. H mgefhﬂf
are necessary to answer. the que'atmﬂ;

136. Office X is in which dlrecﬂnn _w:rthf'x.espﬁ '3'
office Y YT’ _ 5 i

HEeY




},3?

140.

141,

- (©

143.

g

%& is the code for 'running' in a certain code

“languape?
1. In that code Language 'ram runming too fast' is

" written a8 'po he chh to'.
. In that code language "he is running very fast’
is written as 'ha ni he ma po’,
Among "Slanjaev, Rajeev, Gautam, Ranjit, Amit and
Mithilesh, who is on the immediate 1&ft of Gautam?

I Gautam is sitting between Sanjeev and Amit,
who is on the extreme right.

iI. Gautam is third to the right of Mithilesh and
second to the left of Ranjit.

Despite provisions of legal punishment child tabour
15 prevalent m our society.

Which of the following could bee a logical course
of action for the above mentioned phenomenon?
(a) Strict laws should be made by the parliament
against child labour,

Focus should be brought about on the proper
execution of the legai provisions.

The youth should be persuaded to rebel against
their parents who are involved in child labour.

(b)
(c)

child 1abour should be elﬂsed.'
{e} None of these

. Statistics released by the Hatmnai Crime R&cc}rds

Bureau show the maximum unnatural deaths recorded
m 2012 were 1 road accidents.

Which of the follewing conclusions can be drawn
from the above statement?

(a) Public transportation systems are no longer safe
for travelling. f

People are taking no precaution while driving,
_fﬂ India, there are no proper safety measures
for vehicles, -

In India, paﬂplﬂ do not follow trafﬁc rules and
regulations. -

(¢) Nome of these
Gwmg to delayed and waak Sﬂiﬁ‘h—W&Si monsoon

(b)

(@)

there is an alarming depletion:in: ﬂi& water imrals 2

- of iinportant reservoirs.

Which of the following courses of agtmn could:be
taken by the g&v@m&nﬁ i

{a} The Central Gﬂvemment shnuld 13311& aﬂ
" advisory (o the State Gﬂvﬁrﬂmﬂﬂt ‘Eﬁ rﬂakﬁ |

5 * [

B jwdim{}us and rﬁgu‘iate{i i‘&l&&ﬁ& ﬂf waiﬁr

@3) 'I'i;e government should give prefgrm ‘to.
g water ‘and irrigation, and enhance

b

gﬁmﬂd wnmr use to maet curreni needs,

All business establishment who are involved in

144. The interest rates on small Saving

145.

{¢) Farmers should be m:iwsad b}' tha ‘povernent
to grow such crops that require less waler.
(@ Aill (), (b) and (c)

{e) None of these
g schemes such

as the post office savings schemes, RO1 Relief
Bonds, Provident Fund and PPF continue io be
administered at high levels in relation 10 market
rates. These schemes also have a variety of tax
schemes and tax incentives which result in much
higher post-tax returns, and on the flip side more
liahility for the government.

Which of the following inferences drawn from the

facts stated in the above passage is definitely true?

{2} Tax .incentives are provided (o benefit all

sections of the society.

(b} The interest rates on small savings have
" decreased considerably over the last few years.

{c) Returns on different gﬂvernmentnadminjstered

savings schemes are higher for tax-paying

individuals.

The government-administered savings schemes

drain out the exchequer's money in the long

T,

None of these

(@)

(€)
The Rail Ministry has decided to set up one-stop
facility counters to attend the various needs of the
passengers at all major stations.

Which of the following assumptions is implicit in

the above statement? (An assumption is samethzng

taken for granted)
(a)

Majority of the passengers will remain deprived
of the variety of services during their journey.
The services provided by these counters will
help all those passangers' who are traveiling

alone.

This will iead 0 an- extra hurd&n ﬁﬂ the
- Railways. -

. The services provided by thﬂ&ﬁ COUTHETS wﬂi

result in better facilities m tha passengezs
None of these N :

(b)

(©)
)

(€)

-+ Directions (1 45«&-*??’}. R‘m &w mfﬂmm mﬁiﬂy
az:a" answer the folfowing: gﬂﬁ;ﬂ&'ﬁﬂg '

Ifé -l-Emaaﬂﬁﬂaﬂh«afathe;ﬂfE
If& me&aﬁsAmﬁmsmﬂﬁfE

'_ Hawmmam&emfwm

if&%ﬂm&ma&:ﬂi&emﬁﬁﬁﬁﬁ

- Ef A+ B mﬁﬂs A is the son of B,




ﬁﬁ Which ﬂIﬂDﬂg the given ex
~ is the daushter of 1Y)
@L%BRSD + 1 M
(b) L + R ‘5 D+ MxT
© L%R %D + T + M
dy L$SD = R%M-c-’[‘
(e} None of these

Pressions mndicate that ’H

147, Which amoeng the follow: ing ﬂptl{‘_m::,
expression I + T % J I
(@) L 1s the daughter of T
(b} K 18 the son-in-law of |
(¢} 118 the grandmother af L
{d} 1 15 the brother of 1
{e) None of these

148 Rajat correctly remembers that his mather’s birthday
1s not after 18th of June. His stster correctly
remembers._that their mother’s birthday is before
20th June but after 17th June. On which day in
April was definitely their mother’s birthday?
(a) 17th (b) 19th
(c) 18th (d) 17th or 18th
(e} None of these

149, In a row of children facing North, Ritesh is 12th
from the left end. Sudhir, who is 22nd from the
right end is 4th to the right of Ritesh. Total how
many children are there in the row?
(@) 35 (by 36
(c) 37 (d) 34
{e) None of these

150. A bus for Delhi leaves every 30 min from a bus
stand.” An enquiry clerk, Rambabu told Shyamlal, a
passenger that the bus has already left 10 min ago
and the next bus will leave at 9:35 am. At what
time did the enquiry clerk give this information to

.+ Shyamlal?

(a} 9:15 am

(t:) 9:20 am

) None of these

fsz If day before yesterday was Saturday, then what

15 true, if the
T dt.,ﬂml,e:h frue?

(by 9:10 am
(@ 9:05am

(b) Thursdd}f

'f{d Fﬂdﬂy
)-- TP (ci) Tuﬁ%da}f

~day of the week will it be on day after tomorrow?

= - T T | L

irections (I153-15 ?) A m.ffr&ermﬂ* firm uunrf m
recruft frainee officers. Following 1,5 .-'ﬁf Cﬂfﬁ'}‘ f fﬂr
sefection, j e R L.
The candidates must : |
(1) Be a graduate in any discipline with at least 55%

marks
(i) Have completed post-graduate degree/diploma in
marketing management with at least 65% marks
Have cle
marks

(L) ared the selection test with at least. 50%

(v} Have cleared the interview with at least 55% marks
Be willing to sign a bond for 2 years
Be not less than 21 vears and not more than 26
years of age as on 1st February, 2009

v1)

However,
criteria except
a) At (ity above but has working experience in the

marketing department for at least one year and has

a post-graduate degree/diploma with any

specialization, the case is to be refern;‘:i_:i, to the

Vice-President E

if a candidate satisfies all the above

(b) At (v) above but is willing to pay an amount of
Rs.1 Lakh in case, if the candidate leaves thecase -
is to be referred to the head to marketmg'
department.

In each of the question below, mim:matmn of ﬂne':{?.
candidate is given. You have to take one of the. fullﬂwmg
five decisions based on the mimrm.ﬂu}u pr{}mded and the
criteria and condiiions given above, You are. :mat ‘10
assume 3113 thing fi!thﬁr than the mfc}rmanﬂn prtruﬂ;dﬂd 31




| fiu!;i "*"” Imuh“umi interview with

i{ih ddiL eshirthas i?ih Judy T9R3:

' :="Su;titf:-;:5}i;1h [};iHHLd BE with 67% marks and MBA

Mdriu:n;_ with 695 marks. He bas scored 36% in

156,

‘selection test and 63% marks in interview.
= orecently . celebrated

He has
his 23th birthday on 17
Septentber, 2008. He does not want to sien a bond
but is witling to pay Rs.1 Lakh, if he leaves,

Rohan Hlml]a 15 24 vears old Science graduate passed

with 589 marks and MBA in Marketng with 68%

":m{lrlch He has secured 533% marks i selection tesg

157.

“hond for 2 years.

as well as in interview. He is willing to sign the

Nandita Sharma B.Com graduate passed in first
class diploma in marketing management with 62%

G [ht. hﬁnd iiu‘ & \E;frw

{58,

160,

i;rih is:21ist I}ﬁ‘tfﬁ}hf E‘JH"’* "%}tr’""" w0 S

.;_!-I.f.ﬁf s :.-H,' = J_F-i.-.l":'..f_.'ff

Dirﬂ; Hous (158-160); F uf.«’ru HL” r;m

eI fﬁff fve three dicit pEers give h; Feriy

‘119 378 436 624 893
Ii the positions of the st and fhe Spe gt within

each number are interchansed, winch of te felldwng
will be 2nd smallest number?

(a) 319 (hy A7#

) 436 (dy £

(e} &93

If ‘17 is subtracted from Ist digi i each numhe
and ' 17 is added to 2nd digit in each mndher, wediicly

will be 3rd digit of 2ad highest numher”

(a}y © i
{cy 6 idy 4
{e) 3

If the positions of st and 2nd digis witing each
number are interchanged. which of the
will be the highest number”

fn”&':w't[”r_

marks and has passed post-graduate with 72% marks. {_3} 51? {Jh_} 3_?3
She has cleared selection iest and terview with i_CJ 436 () 624
56% and 538% marks, respectively. Her date of (e) 893

-~ Part-V : General Awareness

"‘.ﬁ;_"'_'_'.__f"f;'__;:_{s{,::tehraled n wluLh state?
: (d} H undLhcllf;_;Prd{lE sh

() Anuradha Roy |
(¢} KR Meera (@
). 'Who has been elected as the first female President

C Who has won the 2016 DSC Prize for South Asian

Litersture?
by Akhil Sharma
Mirza Waheed

of "lzuw;mf'

{a) T'un Gh] Wen

(€} Mao Chi-kuo
_Thf: theater . festival

M Bi-Mi-kuo
(d) Tsai Ing-wen
‘Nandi Natakotsavam’ 1s

(b) Andhra Pradesh.
(ci) Tamil Nadu

......

lab

167.

165,

() Easterine Kire

(c) Amitav Ghosh

(dy Siddharth Chowdhury

Who has been elected from india to the bhoard of
directors of the Asian Infrastructure Investment
Bank (AIIB}! |

{(a) Rahul Mishra (b} Dinesh H_ia:il.'lu.'u
(¢) VK Singh @) Aruni Jaitley

The NITI Aayog has c:}i]dburdlud wnlEn which

organisation for mnduumgj
manutauturmg ﬁrms‘?

n|’

=~.mwy

'::'_.._:.'_:(d} Suate Eank of mdla"”

......

..........



A A8C JATEESt Single.

171

172

173

174.

175.

176.

178

179.

- {c) State Bank of India

{c) Nikhil Jain
171

site solar POWEr proieor
Project in th
.wgﬂé will come Up in which Indian stjate” -
a} Telan
() gana () Madhya Pradesh

€} _Rajﬁﬂm&“ (d} Gujara

focussed bank branch?

{(a) Puniab Nationai Bank M) Canara Bank

() Bank of Baroda
Who has become the first Russian 10 be inducied

mto International Tenpis Hall of Fame?
(@) Marat Safin (b} Justine Henin

(c} Helena Sukova ) Amelie Mauresmo

Who have won the 2{}16 WTA Apia International
title in the women's doubles Category?

(a) Alla Kudryavtseva and Anastasia Rodionova
(0; Caroline Garcia and Kristina Mladenovic

() Samia Mirza and Martina Hingis

(d) Caroline Garcia and Katarina Srebomik.

The 2016 Sahayog-Kaijin military exercise has been
conducted between India and which country?

{(a} Japan (b} South Korea

{c} China {dy Russia

Who has won the 2016 Pritzker Architecture Prize?
(a} Frei Otto (b} Shigeru Ban

(¢) Alejandro Aravena {d) Tovyo Ito

Who has won the 2015 Lorenzo Natali Media Prize
in Asia and the Pacific amateur category?

(a) Maria Jones (h) Ankita Anand
(@} Raj. Shrivastav
Who has been selected for 2016 Prof. MV Pylee
Award?

(a) K L Sebastian

() V N Rajashekhara Pillai

(¢c) Rajesh Singh

(ﬁ) Jancy James.

Anil Ganguly, who passed away recently, was

related to which field?
(a) Nuclear Scientist (b) Journalist
(c) Filmmaker - (d) Painter

Which of the following organisations is pmv%ding
loan for implementation of Neeranchal National
Watershed Project?

{(a) World Bank

(b) Asian Infrastructure Investment Bank

() BRICS Bank -

(@ Asian Development Bank

180, Mabh Bihy festival is celebrated in whza‘:h ﬂf the

181,

182,

183,

84,

185.

186.

187.

+ (@) China

188.

189.

190.

191.

(@) Christiang Rﬂnaldﬂ {E;u) ]

following staes?

{2} Manipur
{¢) Rerala

{(b) Assam
() Gujarat

Which state has become the India’s first fully organic
state?

'(a) Tripura (b) Sikkim
(c) Himachal Pradesh () Haryana

How much cropped area in India is presently covered
under crop insurance scheme?

{a) 23% by 0%

(c} 35% ) 42%

Which of the following panels has been set up to
study 7th Pay Commission’s recommendations?

() N K Mittal panel () M Raghuveer panel
(c) P K Sinha panel {d) K Kishore panel

On which date, the Indian Army Day is celebrated? |
{a) January.15 (b} January 21
(¢} February 11 {d) March 19
| taunches host of digital banking solutions.
(a) BOIL (b} SBI
(¢) PNB (d) Axis

Who has received the World Peace and Prosperity

Foundation Award for the vear 20167
{a) Mamata Banerjee

{b) Devendra Fadnavis

{c) Mohammed Mahmood Al

{d&y N N Vohra '

Which of the following countries rated number one
in A T Kearney’s 2016 Global Services Location
Index (GSI.1)? -

{b) India
{¢) Brazil (d) Japan i o
In which Indian state, the Nati fﬁik dmme ?EE

celebrated?

(@) Andhra Pradesh
(c) Himachal Pradesh -
Which state has b&ﬂﬂm& the ﬁrst stata m'mev
100 percent prlmary education. E-tams‘?
(2) Mizoram {B}anpw |
ko ks o el FIFA‘ Mﬂﬁjd

(c) Neymar 4@ Lior
Which of the fﬂﬂnwmg is ﬂ:ﬁe

graﬁuaunﬂ 1&?&1‘?



{ :(;ujarqt {h) Ra}asthaﬂ
5'.{{.‘:}___.___'Telangdm - (@) Odisha

EWhmh ﬂ-f lhc Iulluwm;: domains has become the
ffwmi(} '~, mmi menuuly used domain in the internet?

& 5
| (d) m ,
:2'_.::._..::.":__Whlﬂh nt [hr., following is the India’s indigenously-
:'ffhuﬂt anti-submarine warfare corvette?
(@) INS Ardmlll - (h] INS Kadmau
() INS Savitri (d) INS Subhadra
194. The TFSC Banking Unitd (IRUs) are allowed to
~ ©pen which of the following types of bank accounts?
.-..___(d} Sdmn‘g,z. ACCOUNLs
.;__.(b) Curren[ ACCOUNtS
.-f.ﬁ.:._-_::-_::::;(d} AH of th above
; Yadgar e-Tagseem, or the Memories of Partition
museum wiil be opened in which of the following
cities?
(a) Jalandhar {by Amritsar
() Gurdaspur {(d) Murshidabad
Who has been appointed as Registrar General and
Census Commissioner?

196.

{08,

199,

(b) Nitin Choube

(a} Pavan Kumar
(.;1) Saﬂesh

{©) Abhljeei Gupta

197. In banking terms, BIS stands for:

(a) Bank Information Settlemems

(h) Bank for International Srandardization

{c) Bank for International Settlements

(d) Bank Informatiomn Standardization

(¢) None of the above |

The NABARD has signed a Memorandum of
Understanding (MoU) with which of the following
organisations for web-based monitoring of watershed
projects’?

(a} National Remoie Sensing Center (NRSC)

(b) Geological Survey of India (GSI)

(c) ISRO (D)DRDO

Who has been reappointed as RBI dé;}uty SOVErnor
for 3 more years?
(a) H R Khan
{(¢) R Gandhi

(b) Urjit Patel
(d S S Mundra

. Who 1s the chairperson of the Economic Intelligence

Council (EIC)?
(a) Finance Minister
(¢} RBI Governor

(b) Prume Minister
(d) Finance Secretary

e * wrrrTETT
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